4.  Solve the missing number problems using multiples of 10 in French.
a. vingt add trente = __________
b. _____ add dix = vingt
c. quatre-vingt-dix subtract ________ = quarante
d. quatre-vingts subtract __________ = soixante
e. ______ divided by dix = dix 

5. Now create your own missing number problems using multiples of ten.

6.  Why do you think numbers 70, 80 and 90 are ‘soixante-dix’, ‘quatre-vingts’ and ‘quatre-vingt-dix’? Explain your reasoning using your knowledge of French numbers to help you. 

